Nhan véi lity thira ctia mudi (s6 bi thiéu)

Tén: Ngay thang: Piém:
2,413 x — 2413 10, 552 x = 105.52
7,533 x = 7533 2,623 x =26.23
5,047 x = 5047 4,95 x = 4950
1,763 x =17.63 1,395 x =139.5
8, 56 x = 856 10, 817 x = 10817
5,084 x = 508.4 8, 889 x = 888.9
7,068 x = 7068 8,761 x = 8761
1,003 x = 1003 6, 304 x = 630.4
5,708 % = 57.08 7,298 X = 7298
8,061 x = 80.61 1,758 % = 1758
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Nhan véi lily thira ctia mudi (s bi thiéu)

Tén:__ Ngaythang: _ Piém:____
2,413 x 100 =241.3 10, 552 x 10 = 105.52
7,533 x 1000 = 7533 2,623 x 10 =26.23
5,047 x 1000 = 5047 4,95 x 1000 = 4950
1,763 x 10 =17.63 1,395 x 100 = 139.5
8,56 x 100 = 856 10, 817 x 1000 = 10817
5,084 x 100 = 508.4 8, 889 x 100 = 888.9
7,068 x 1000 = 7068 8,761 x 1000 = 8761
1,003 x 1000 = 1003 6,304 x 100 = 630.4
5,708 x 10 = 57.08 7,298 x 1000 = 7298
8,001 x 10 = 80.61 1,758 x 1000 = 1758

www.snowmath.com


https://www.snowmath.com

